Hypothesis Test/CI Example for the Difference in Two Proportions
Renting a living space is something almost everyone does at some point in their lives. How does the rental atmosphere change if you have AIDS and mention it? A study in 1999 investigated this question by having an adult male caller respond to 2 random samples of 80 advertisements for room for rent. For the first sample, he did not allude to having AIDS, and for the second, he alluded that he was in the hospital, about to be released and needed a place to live. For the first random sample (no AIDS reference), the caller was told a room was available in 61 calls. For the second random sample (AIDS reference), the caller was told a room was available in 32 calls. Is there sufficient evidence to conclude that a reference to receiving treatment for AIDS substantially decreases the likelihood of a room being stated as available? Use a significance level of .01, and be sure to discuss any possible issues with conditions necessary for carrying out the test.

Hypotheses:

Conditions/comments:

Test statistic and p-value computations:

Conclusion:

Interpret your test statistic.

Find a 98% confidence interval for the difference in proportions. Is this equivalent to your hypothesis test above? Explain. (Conditions were checked above.)

Interpret your confidence interval.

Is your confidence interval consistent with your hypothesis test? Explain.

